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(201 ) ANEERRH RIER— BN, MK AP R R R T, NEEIREH B ERIZEF= M
BN . CRNZHLIREHY A 9 10000 76, FAFNEZR S 20%, HHBFRE N 4%, HEBFEN 13%.
HEGT B FE=10000 X (1+20%) + (1-4%) =12500 (JG)»

N 2RI B AE=12500 X 4%=500 (IC).

B BRI AI=12500 X 13%=1625 (JT).
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MBI H= [100000X (1+10%) +10X2000%X0.5] + (1-20%) =150000 (JG).

N.YNTH 27 Fi=150000 X 20%+2000 X 0. 5X 10=40000 (JC).

BRI A=150000 X 13%=19500 (IC).
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ZEBN ST BB B A B R A, BRI ¢ ). (2022 )

A. (97750+97750 X 5%) =+ (1+15%) =89250 (JG)

B. 97750+97750 X 5%=102637.5 (JG)

C. 97750+ (1+15%) =85000 (J©)

D. (97750+97750X5%) —+ (1-15%) =120750 (JG)
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A. 42500 X (1+5%) <+ (1-20%) X20%=11156.25 (JC)

B. [42500X (1+5%) +1X1000X2X0.5]+ (1-20%) X 20%+1X 1000 X 2X 0. 5=12406. 25 (7T)

C. 42500 (1+5%) X 20%+1X1000X2X 0. 529925 (J0)

D. [42500X (1+5%) +1X1000X2X0.5]+ (1-20%) X20%=11406.25 (T)
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A. 400X 678+ (1+13%) X 15%

B. 400 X 678 X 15%

C. (400+30) X678+ (1+13%) X 15%

D. (400+30) X 678X 15%
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fEetiT: K B R TR BhE T SRR R A A, WO TR BN 30 At i L SIS 2R, TR
WG 678 SN BB, FTCANAEM BL > B AL BE, R SIZRN I 2 Bi= (4004300 X678+ (1+13%) X
15%=38700 (JT).
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HR BN = (50420) + (1-30%) =100 (J375)

IARIAR G578 9 Bi=100 X 30%=30 (J576)
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A. 120000x5%=6000 (J5)

B. (45000+12000) / (1-5%) x5%=3000 (JC)

C. (45000+12000) x5%-2850 (JC)

D. 100000x5%=5000 (J5)
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fiEE T ZRAEIN T RBLYE ot i, IR SZFE T B[R] 280 2 b A A TH GBI TR 2EYE P A B AR 1
TR BN A TSN . AR ) N2 dE 77, HIRI R SEARHIAR B A w B kg S 100 000 JT, i FH HbAR
AR E S5 AR PR BLET 100000x5%=5000 (J6) .
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A. (140000+21000) <+ (1-30%) X 30%




B. (140000+21000+2730) X 30%

C. (140000+21000) X 30%

D. (140000+21000+2730) + (1-30%) X 30%
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SERRRAD, ANEFEERRK. ) RARRARGEIE B Bi= (1400004210000 <+ (1-30%) X 30%=69000 (JG).
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FRER S EaRb 55 g8l P B At F o, Emre ¢ D. (2021 4F)

A. (85.5+2.565+179. 55+7. 182) + (1-10%) X 10%=30. 533 (JF7T)

B. (179.55+7.182) X10%=18. 6732 (J75)

C. (85.5+179.55) =+ (1-10%) X 10%=29.45 (Ji7T)

D. (179.55+7.182) + (1-10%) X 10%=20. 748 (F7T)
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A. 540000X (1-5%) <+ (1-10%) X 10%

B. 540000 (1-5%) X (1+10%) X 10%

C. 540000 X (1+5%) X (1+10%) X 10%

D. 540000 X (1+5%) <+ (1-10%) X 10%
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fEAT: A B ZRTHIEVE SR, 3E T ERT R SR B =BT B AE X (LB + (1I-TH B BRI 2D
X BB LR 2. HE VBRI 2R Bi=540000 X (1+5%) / (1-10%) X 10%=63000 (JIG).




